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(D%% O'JT 0.7 065 0 1.39 2 2 049 0 0 0 0 0 0 2.08 3.89 (6.62,6.89,7.23,7.81)
2 11 3T 0.83 0 0 0.5 085 2 1.41 1] 0 0 0 0 0 036 221 (6.46,6.62,6.87,7.45)
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max {Z=(5.0,5.2.55.6.2)F + (-1.4,-1.2,-1.0,-0.85)M + (4.5,5.0,6.0,6.5)D — 1.06B5 + 1.04Ls}.

St

3F+2M +2D—B, + L, <2,

F +0.5M + 2D + 1.06B, — 1.04L, — B, + L, < 0.5,

1.8F — 1.5M + 1.8D + (1.050, 1.055, 1.06.1.065)B, — (1.030,1.035,1.04,1.045)L, — B; + L; < 0.4,

—0.4F — 1.5M — D + (1.050, 1.055, 1.06, 1.07)B; — (1.030,1.035, 1.04, 1.05)L; — By + Ly < 0.38, (18)
—1.8F = 1.5M — D + (1.05,1.06, 1.065,1.07)B, — (1.035,1.038,1.044, 1.05)L4 — Bs + Ls < 0.36,

—1.8F — 0.2M — D + (1.055, 1.058, 1.065, 1.075)Bs — (1.040, 1.042, 1.046,1.055)Ls — Bs + Ls < 0.34,
0<Bi<2(i=1,2,...,6),

0<F<20<M<20<D<2.

L SKaS pws by Jde L Ols o 1) 18 dislas 12 dsles L

3,5 0= 0.5 plnlbe,sh

min {z; = 0.2F + 0.2M + 0.5D},

max {z; =5.2F — 1.2M +5.0D — 1.06Bs + 1.04Ls},
max {z3 = 5.35F — 1.1M + 5.5D — 1.06B¢ + 1.04Lg},
max {z; = 0.7F + 0.15M + 0.5D},

s

3F+2M +2D —B, + 1L, <2,

F+0.5M + 2D + 1.06B, — 1.04L, — B, + L, < 0.5.

1.8F — 1.5M + 1.8D + 1.0575B, — 1.0383L, — B; + L; < 04,
—0.4F —1.5M — D+ 1.0579B; — 1.0379L; — B4 + Ly < 0.38,
—1.8F — 1.5M — D + 1.0621B, — 1.0413L, — Bs + Ls < 0.36,
—1.8F — 0.2M — D + 1.0621B5 — 1.0446L5 — Bs + Ls < 0.34,
0<B<2(i=12....6),
0<F<20<M<20<D<2.
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FES F M D B B, Bs By B Bs L L Ly Ly Ls Le gy 2

4=l 034 067 O 037 057 0O 0 0 0 0 0 018 171 376 502 (6.01,6.21,6.456.79)

9 Adalas 0 1 0 0 0 2 2 2 2 0 0 0 0 0 0 (—3.52,—-3.32,-3.12,-2.97)
10 dilaa s

1111 . . . K . . .46,6.63,6.88,7.
(44‘474}1' 083 0 0 0.5 085 2 140 0 0 0 0 0 0 037 222 6.46,6.63,6.88,7.46

1221 . . . K . . .46,6.63,6.88,7.
(E_E‘F_E}T 083 0 0 0.5 085 2 140 0 0 0 0 0 0 037 222 6.46,6.63,6.88,7.46
(01,1, O)T 0.7 065 0 139 2 2 049 0 0 0 0 0 0 208 389 (b6.64,691,7.257.83)
(%%‘% %}T 083 0 0 0.5 086 2 14 0 0 0 0 0 0 037 222 (6.64,6.63,6.88,7.46)
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max {Z = (5.0,5.2,5.5,6.2)F ~ (—1.4,-1.2,—1.0,-0.85)M + (4.5,5.0,6.0,6.5)D — 1.06B5 + 1.04Ls},
3F+2M+2D—B, +L, €2,

F1+05M+2D+1.06B, —1.04L, — B, + [, < 0.5,

1.8F — 1.5M + 1.8D + (1.050, 1.055, 1.06, 1.065)B; — (1.030,1.035,1.04, 1.045)L, — B -+ L1 < (0.30,0.35,0.40,0.50),

—0.4F — 1.5M — D + (1.050,1.055,1.06, 1.07)Bs — (1.030,1.035,1.04,1.05)Ls — B4 + Ly < (0.30,0.35,0.38,0.40), (20)
~1.8F — 1.5M — D 4 (1.05,1.06,1.065, 1.07)B, — (1.035,1.038,1.044. 1.05)L, — Bs + Ls < (0.28,0.34.0.36,0.45).

_1.8F — 0.2M — D + (1.055,1.058, 1.065, 1.075)Bs — (1.040,1.042, 1.046, 1.055)Ls — By + Ls < (0.25,0.30,0.34,0.42),
0<B<2(i=12,....6),

0<F<20<M<20<D<2.
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min {z, = 0.2F + 0.2M + 0.5D},

max {#; = 5.2F = 1.2M + 5.00 = 1.068; + 1.04Lz}.
max {2; = 5.35F — 1.1M + 5.5D — 1.068; + 1.041L5}.
max {z; = 0.7F + 0.15M + 0.5D},

S.L

(3F4+2M 42D =B + L £ 2,

F+05M 42D+ 1068, - 1.04L, = Bz +L; £ 0.5,

1.8F = 15M + 1.8D + 1.05258; = 1.03250L; = By + Ly £ 0.3250,
1.8F = 1.5M + 1.8D + 1.0558: = 1.035L; = B3 + L3 £ 0.35,

1.8F = 1.5M + 1.8D + 1.06B: = 1.035L: = B3 4 Lz = 0.4,

—0.4F = 1.5M — D + 1.0525B; — 1.0325L5 — B + Ls < 03250,
—0.4F — 1.5M — D + 1.055B3 — 1.035L5 — By + Le < 0.35,
—0.4F — 1.5M — D + 1.06B; — 1.04L3 — By + Ls < 0.38,

—0.4F — 1.5M — D + 1.06508; — 1.0450Ls — Ba + L4 < 0.3900.
—1.8F = 1.5M — D + 1.0550B; — 1.0365Ls — Bs + L5 < 0.3100,
—1.8F = 1.5M = D + 1.06Bs — 1.038Ls = Bs + L5 < 0.34.
—1.8F = 1.5M = D + 1.065B4 — 1.044Ly — Bs + Ls < 0.36.
—1.8F — 1.5M — D + 1.06758, — 1.0470L; — Bs + Ls < 0.4050,
—1.8F = 0.2M = D + 1.0565B5 — 1.0410Ls — Bs + Ls < 02750,
—1.8F = 0.2M = D+ 1.058B5 — 1.042L; — Bs + Ls < 0.30,
=1.8F = 0.2M = D + 1.065B5 = 1.046Ls = Bs + Ls < 0.34,
=1.8F = 0.2M = D + 1.0700Bs = 1.0505Ls = Bs + Ls < 0.3800,
0<B<2(i=12,.. 6,

|0sF<s20sM<20<D<2.

1.8F = 1.5M + 1.8D + 1.062558; = 1.04750; = By + Ls < 0.4500.
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PECH F M D B B, B; B, B B L 1. 5 L Ls Lg
8 4l 0.34 0.67 0 0.35 0.54 0 0 0 0 0 0 0.15 1.61 359 475 (5.70,5.90,6.14,6.48)
9 alilas Ly 0.58 0.85 0 1.42 2 154 0 0 0 0 0 0 0 2.09 3.66 (5.48,5.76, 6.10, 6.63)
10 adilaa Lk
(%,%.%‘%]T 0.82 0 0 0.46 0.81 2 145 0 0 0 0 0 0 0.25 2.01 (6.19,6.36,6.60,7.18)
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2117 0.82 0 0 0.5 0.81 2 145 0 0 0 0 0 0 0.25 2.01 (6.20,6.36,6.60,7.18)
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X31 + X32 + X33 < 200, (22)
S.L{ Xqp +Xop + X3 < 220,
X12 + X22 + X32 < 450,
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X =20(=12.3;j=1273).
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